

2020.05.12 & 2020.05.13

COVID Sample Classroom Setup

Facility | East North Elementary School

- General
 - o Kindergarten: all utilize tables; varies between 48" round and 30" x 60" rectangular
 - o 1st grade: approximately 85% of classrooms utilize tables
 - o 2nd grade: approximately 15% of classrooms utilize tables
 - o 3rd grade: most classrooms utilize a mix of tables and desks
 - o 4th grade: approximately 50% of classrooms utilize tables
 - o 5th grade: approximately 75% of classrooms utilize tables
- Classroom 1
 - o 4th grade classroom
 - o Dimensions: 24' x 35' = 840 Square Feet
 - Desk + chair setup accommodates 18 students
- Classroom 2 [Room 216]
 - o 3rd grade classroom
 - o L-shaped classroom; general dimensions: 20'-6" x 35'; actual square footage = 791 Square Feet
 - o 4' round table + chair setup accommodates 13 students









- Classroom 3 [Room 242]

 o 5th grade classroom

 - O Dimensions: 34' x 24' = 816 Square Feet
 - o 30" x 60" rectangular table + chair setup accommodates 11 students









Facility | Augusta Circle Elementary School

- General
 - o Kindergarten: most utilize tables
 - o 1st grade: approximately 85% of classrooms utilize tables
 - o 2nd grade: approximately 85% of classrooms utilize tables
 - o 3rd grade: approximately 75% of classrooms utilize tables
 - o 4th grade: all classrooms utilize tables
 - o 5th grade: all classrooms utilize tables
- Classroom 1 [Lanahan]
 - o 3rd grade classroom
 - o Dimensions: 22' x 34' = 748 Square Feet
 - o Desk + chair setup accommodates 15 students









- Classroom 2 [second floor, south west classroom on building plans]
 - o 2nd grade classroom
 - o L-shaped classroom; general dimensions: 24' x 34'; actual square footage = 864 Square Feet
 - o Trapezoidal tables + chair setup accommodates 12 students









Facility | Bryson Middle School

- General
 - o Approximately 60% of classrooms utilize tables
- Classroom 1 [A105]
 - Dimensions: 28' x 28' = 784 Square Feet
 - o 30" x 60" rectangular table + chair setup accommodates 15 students









Classroom 2 [C124]

- o Dimensions: 26' x 28' = 728 Square Feet
- o Desk with attached chair setup accommodates 16 students







